TSwro YR 20

N0 N2 HW HudVD P

172370W AR 297 YW IINRNAY 72190
LY MR "N0ID M2 Yw PRubun Iy
(vywni) 131

Qww 1707 PT°I2 PRI LI0 OXR” :(139 /nY) 212370W AR 277 *0%) P20 1IARNA
172 D121 DX ¥11971 D057 127 1MINIw D°X0N 11972 NN, Yphwl RS 09yan
Rsiohinhy

JINRNA 77307 XR22W DINIPR *3w Y NDDIAN 17 13pon

MPIX"A w9y 21 Dww KPR (T 1000 L2 D9D) wORIT NMWwn PwRI
awITR MY RIW 77N TINDN TNRY IN1IwY L0010 M XY PaTIinnw
T2 7Y PR IRD 1170127 ,7Ann

-R* IR MY 00,0V 777, 7172 72°00) 31230718 71T 277 07270 R0 I pni
PR” IR ,0°101 NOID 1’2 JIXY ARNN2 MINIW 071DV POIY "T1T? 720070 (P
RXN1” :00WwWn2 (139 'NY) INRN2 D°NI10M 12T 70730 D TRV OA2 TINWw n
D1°wn? 77X 7270 OR 000 Yphwl X2 0PYya ow OX X ,0°7D0 119nY I

LTI FIRON TW ONYT N1IYY IRII 071K ,7N0I07 N°2 YW NIRXI

70 771 1197071 2127 DPbuIXn (Dw) PR

DIYw2 YT NMWwA LaR LYpnwl 2w, AN300 00w 7D TIRI2 73
0’90077 1172 ARII NNPRA PIR ...KDI 191 YPNwl 22w K27 20D 3 19°0 27N
N°22 OmPInR PPN BPIYT RN W LT N0Idn 1°aY YYD 05731 0K
70°730 DTV DPIDOAW T2 W XN A1) .0An 1IRw  NINR NoIdn

0I5 N°2an 7Y T 77N TIN2N Nphonk RLWwDI

237



9w D 9OR 2977 = TUYWNN XD NN

0°719071 Y N1 0°%Ya0 oWl /YRpNwI 2w R2T ORW ,INRD LAY T 0I0RN
IRD DAw 7291 770 TIDN NPDOaR” 02N MTITR A9hnN"A NN N
- M1 012WN - RN PPIVY AN1TA 1272 RD1,07I0 TP JIXY 27 R 0a0
772 72NN LR LI X DR AW ,"YRPNwl °wn X?7WwD 03 K17 WNPHAW AR
IRD PI0°DAW 723 MPN2A TPV 02IR LRI 1DV 900101 "DIYWwa Y1370 DR XA
,A1122 7.9 77E% 1IRT1 1977 (R LDWNT NR NMINNID "ARII 1917 D220 1w
7°20 PR /YPNWwY” AYHWN PR 1IN0 N0, 77w D2 11 7DYwa Y1170 007 10

JYPNWwI 23w ... IRI?7Ww 11720 Y 03 NP0 DX P10 77T 790070 0D

1Ty’ 0*IDOAW DIPP2 27 137 1INPAW APy 71T 720070 07272 1Y, 01D 9o DY
,7I0 072 TR °n 1751 IR 1701 071D 11721,727712 W1 71N Y 071130
PR X010 %W 7pnk Dwpn Ppa 0°D011 0°D°I0 1I2T TR 00N RIM
DW1 ND1IDT N°2% IMINIW 0°XDN NN A2 PN 1PI2T2 RIXNY CNYT NrIvL

1210 01°wn XY 0°hY ohya

272170V 290 Man

MM OR PRWI W7RIT.0°37IY 21w 12 229¥0 12w D 27w 21T, WK 1272 02
71917 NN DR - AR :0°ID 3w 17 APRWY? 770 TI020 J1X% NoId n°2 7100k
, 07N Pw anyT? win® P oK - 3w 290K 727 JNX° OwITR cwenwn
2w N01D NP2 NWITR MIPAY AR ANWKRIA APRWD ?207°0n? DTannw
MOMDNI ARTY N2 AYRW X7 TIWN APKRWA L3P 70°0 070 IR VPV

037 12°0 ,AYT AP Y nIwTa

TIDAW DD PITR CINRNA PP CNTIDM PRI NIPRWD PN P2 PNINan IR
PR O Py 0210 NYaw aMnn awITR TN A7On0 NORWY 02 LWwURI0
11271077 0°2 .(InRN2 IRI2ND ,0NIPH RAW 2107 PY2) AWITRA DR 1YPDW
MR 2127 1R 01N, 070237 TR0 ORI 71902 IR RI0 WK YW 9900

T2 7pn2

YW1 PR PR TT? AN AW 2N IR LPWRY CTIT? 0200070 01272 o
TIW'22 NIR NNID R .70NW YpNwl” NAwni 0°9Y2a0 DLW NN 9y NIpona
J7"wn O3 72 2y PRI "Dywa YR - 2 20N TNR1 TR 7317 iNavIon

ANTNYR IRWI RI7 DX NIYD DR 0027 NIdn 257 1% 711,10 OX

238



noID nva bw phubuh Ity

Do PPN N1I20 ORA - 200 DR N’ XY DX 17777 11732 7777 70,70 2y 5o
27112 NDI2 N°22 Y007 1w n ORI - PO’ X2 111 ORI 290w 00 pooY 120w’

R°71 17 7R207W 7172 P2R 2w 0°n pooR Pwna® o0 19X 10 ynaw 1on”
,J2 OX .01°wnN °%2 N1°w PO0Y 21 1R DIRW R LIWD P17 .70 NWwn 0210
IPDIOW 7D MR 12T 22 IR NI NP2 LI DR DN INIRW 112 SJIRY YA
0°19% 711210 7°0N Pwn? Ynwnn 0120 oX 22K 12 P2ona 1MwoRw Dnwn 0°n
7INw° 711D 7OpPn2 ORA - 0 DY O1Pwn 9ap X2 03 Dnwn pook PIa nMwn
1°1 72 2y Ny T DAY 202 09w 275 NDIDT N2 w157 DX I1DN2 OK 1 P

7NN2°Ww 031 NAXIT - INIR K237 19K

239



